
1. Please do Question 1 which is displayed on the screen in class. (Short Answer)

Session Name: 03 - Strings in C 2-3-2022 10-40 AM

Date Created: 2/3/22, 10:28:04 AM Active Participants: 54 of 65
Average Score: 7.41% Questions: 3

Results by Question

Responses

Percent Count

ABCDEFGHIJKLMNOPQRSTUVWXYZ 39.22% 20

AB01234567KLMNOPQRSTUVWXYZ 15.69% 8

AB01234567 ( c ) 7.84% 4

A 5.88% 3

01234567CDEFGHIJKLMNOPQRSTUVWX 1.96% 1

01234567IJKLMNOPQRSTUVWXYZ 1.96% 1

AB 1.96% 1

AB01234567\0LMNOPQRSTUVWXYZ 1.96% 1

AB01234567KLMNOPQRSTUVWXZ 1.96% 1

ABCDEFGHIJKLMNO01234567 1.96% 1

ABCDEFGHIJKLMNOPQRSTUVWUXYZ 1.96% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ
01234567

1.96% 1

ABCDEFGHIJKLMNOPQRSTYVWXTZ 1.96% 1

ABCDEFGHIJKMLNOPQRSTUVWXYZ 1.96% 1

ABCDEFGIJKLMNOPQRSTUVWX01234567 1.96% 1

ABCEDFGHIJKLMNOPQRSTUVWXYZ 1.96% 1

C01234567 1.96% 1

C34567 1.96% 1

THE ALPHABET 1.96% 1

THE MEMORY ADDRESS OF C (2 BYTES PAST
'S')? OR MAYBE

"CDEFGHIJKLMNOPQRSTUVWXYZ01234567"?

1.96% 1

Totals 100% 51
Keyword(s): AB01234567

Keyword Matches: 4



2. Please do Question 2 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count

01234567 24.49% 12

01234ABCDEMNOPQRSTUVWXYZ 8.16% 4

01234567ABCDE ( c ) 6.12% 3

0 4.08% 2

01234567KLMNOPQRSTUVWXYZ 4.08% 2

01234 2.04% 1



01234567AB 2.04% 1

01234567HIJKLMNOPQRSTUVWXYZABCDE 2.04% 1

01234567IJKLMNOPQRSTUVWXYZ 2.04% 1

01234567KLMNOPQRSTUVWXYZABCDE 2.04% 1

01234567KLMNOPQRSTUVWXYZQBCDE 2.04% 1

012345ABCDE67 2.04% 1

01CDEFGHIJKLMNOPQRSTUVWXYZ 2.04% 1

0ABCDEFGHIJKLMNOPQRSRUVWXYZBE 2.04% 1

23456789 2.04% 1

AB012345678\0LMNOPQRSTUVWXYZABCDE\0 2.04% 1

AB012345ABCDENOPQRSTUVWXYZ 2.04% 1

AB012ABCDEKLMNOPQRSTUVWXYZ 2.04% 1

ABCDE01ABCDE567PQRSTUVWXYZ 2.04% 1

ABCDEFGHIJKLMNOPABCDE 2.04% 1

ABCDEFGHIJKLMNOPQRSTUVWX012ABCDE 2.04% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ 2.04% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ
01234567ABCDE

2.04% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ01 2.04% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ201234567 2.04% 1

ABCDEKLMNOPQRSTUVWXYZ 2.04% 1

C 2.04% 1

CDEFGHIJKLMNOPQRSTUVWXYZ01234567 2.04% 1

FABCDE 2.04% 1

HABCDE 2.04% 1

SOME ASCII CRAP 2.04% 1

Totals 100% 49

Keyword(s): 01234567abcde

Keyword
Matches:

3



3. Please do Question 3 which is displayed on the screen in class. (Short Answer)

Responses

Percent Count

RSTUVWXYZ ( c ) 10.64% 5

PQRSTUVWXYZ 8.51% 4

0123456715 4.26% 2

01234567ABCDE 4.26% 2

RSTUVWXYZABCDE 4.26% 2

01234 2.13% 1



01234567HIJKLMNOPQRSTUVWXYZABCDE 2.13% 1

01234567Z 2.13% 1

0123467 2.13% 1

0ABCDEFGHIJKLMNOPQRSRUVWXYZP 2.13% 1

23 2.13% 1

34567 2.13% 1

ABCDE01234567IJKLMNOPQRSTUVWXYZ 2.13% 1

ABCDEFGH 2.13% 1

ABCDEFGHIJKLMNO01234567XYZ 2.13% 1

ABCDEFGHIJKLMNOP 2.13% 1

ABCDEFGHIJKLMNOPQRSTUVWXYO 2.13% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ
01234567ABCDE

2.13% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ01234567 2.13% 1

ABCDEFGHIJKLMNOPQRSTUVWXYZ215 2.13% 1

G 2.13% 1

HIJKLMNOPQRSTUVWXYZ 2.13% 1

IDK 2.13% 1

M 2.13% 1

N 2.13% 1

O 2.13% 1

PQRSTUVWQYZ 2.13% 1

PQRSTUVWXYZABCDE 2.13% 1

PQRSTUVWXYZABCDE\0 2.13% 1

Q 2.13% 1

QRSTUVWXYZ 2.13% 1

R 2.13% 1

STUVWXYZ 2.13% 1

TUVWXYZ 2.13% 1

VWXYZ 2.13% 1

W 2.13% 1

WHATEVER THE ASCII VALUE OF THE 2.13% 1



ALPHABET PLUS 17 IS

Totals 100% 47

Keyword(s): RSTUVWXYZ

Keyword
Matches:

5


